KITZ
B/F Series
Pneumatic Actuators

IKiTZ2 CORFPORATION



Contents
B Series Pneumatic Actuators

Features of KITZ B Series Pneumatic Actuators ............ccoccoeveen. 1
Specifications and DIMENSIONS .. ....ivviiiii e, 3
Cylinder Volume and Air Supply Requirements ..........ccooecevviiiinnnns 5
Air Piping for ACTUALOrS . .cvvviiiici e 7 e FHEEZT0| NOHE AME
ACTUATON SIZING 1ottt 8 S &= 4989 UE HiH o
Construction DetailS........oiiiie 9 A % X2 KITZ Corporationol
Optional ACCESSONIES .. .vvviiiiiiiiiiiiiiiicce e 12 ISO 9001 °IES £0{st X =
F Series Pneumatic Actuators ol|ct.
Features of KITZ F Series Pneumatic Actuators..............cccoevevneen. 13
Specifications and DIMENSIONS ......viviiiieieece e 15
Operating MechaniSm .........oiiiiii e 16
ACTUATOT SIZING .ttt 17
Construction DetailS........oivviii 19
OptioNal ACCESSOMES ...vuiiiiiii e, 19
Valve and Actuator Handling Instructions .............c....cooiiinnn, 20
PreCautions .. oo 20
Foreword
S A AFofo[H = HHE x| E Cteststn 42y =H
£ 435} 57| Wi 2o et oz w2 Atgo| HEE L
S A AFofo[H = %.“%' HFofolEf{ et H|WE S uf EH
O| Chkgtch S M7 HFO|O|EH Lt CIEH S 4l HF
oolef= elat=d oLt ZEM =M AL 5= AsH
ct.

SUA A FoolE{ = B[S HE 2 o A HfHANM 2 FH
| A7 W Zofl =2 R A2k AFS 0| SAFHCT. et
KITZAtE 2& %“E”EQF HE S2to| WEo| & Fare
T U B/F Al2|= S HFOO|EE ALMUA 2702
Ct. KITZ Y E 2} RALS P71I MztzEl =82 2 HE{S2to] M

2oz KITZ S HFOO|EHE MRSt 25 = UsH
Cf.

ol o|E{ & Z&+&H5H KITZ Ball Valve




Features of KITZ B Series Pneumatic Actuators

Type B (Double-Action)

Scotch Yoke
Pin

Roller

O-Ring

Bearing
O-Ring
O-Ring

Piston
0O-Ring

Internationally patented

Drive Shaft

Housing

Bearing
Housing Cap

Adjust Screw

@D

Operational Mechanism
AZIH Al 37|Y0| 32 TAES v
OF U2 AFIXRAE BHAIA Yee 2
2™ AU Ch AT 2 3+ TAE Rodel M
s 0| &S (Linear Movement)2 Fa 52| HHAIAH
Lo R 90 MRS E Hetsto] Ao

TS
HEE ZEof w2t WES AL EE5U ot

=—= =

Piston-Rod
AEIH Bol ¢oz 2= 2| Wool
Cylinder v odxtg 2 &AM 51t CH BS £ BSW 982
Mounting Bracket ; ‘ AFollolEf 2 FE=| = Yoot L2 Air Failure
> Il RS2 dofste ixlof WEE x| B
m o
Note! 5 & #Wo| AL B-10A B-4 % Zol0lE7tX| 75
= atet Zol| 28| 2 Etsfob BUCH B-59F B-6 % Fof
OlEle] AT Wro $EXAI|E AIBE 5 YL ch

njat 2 24356t REE R &S Quarter—turn ¥ =of| X st 15 EN
HFxofolE LHFEE ZE S| 28t Fluorocarbon M TS (Linear Drivee) EM & 7H7l 7| &9 A&H
Resine| Tt AlE2 =X 22 252 4l 5h= o} HFollo|E{ 2t EHel, AFIXLT fHL FS ALSSHHA
g ZdaAlducct of7|ol= A2 HEIF Zets 2 Stroke2| AR E D BEEOA HoiX|= g2
of Ag0f I AEn O el F=2{2 0|12 &(Sliding) zthezter &= A= UALE FMo| M3 &t ol2fst
2 =8 735, I2EZE 3 2E Bearing £HO| TM Mse Uty 2w e ol HiE Z2j0| W= o
oA 2sEUCH O Zo HFAOIH= 7M. 23 EMI FASIEE KITZ B Al2|= A &0 0]
2 otyst E s e g = AsdHcot E{7} o|2{ &t Quarter—turn & 2of| ™M &g C}.
ZtEkSt Trouble—free 7= M Af2] M| )
JIHA 2XME Zo|ln MI|Hel MA, SR 2L, B UFoolH Housing= <AdFoole ol Limit
L= M=22 chtsisly| st 29| 42 %A  Switch, Positionerg2| &=zt L £oll Solenoid
b5t &L C} =, Air filter & Regulatorg2| &&F2 2|5 v X[ 7+ H|

Turning Mechanism2} Cylinder2| &2l
A2l FsME M7 L E(Cylinder Drive

Transmission Mechanism)0| Al 21 X}x|ol| S &g
HJA= 7| &9 ciRlelzp 2haf, KITZ BAIZ|= 4 Fof

AN — =TT

O|E{e| MM 7Y & (Transmission Mechanism)2

dElfet Erg FEE AIXe32 dA=AEH
Ct.
olgigt x££ #&F 24H0| otet E R0z 37|+

2 YR g ek

SE U



Internationally patented
Type BS (Spring-Return)
Type BSW (Spring-Return with Manual Operation Device)

Rod Guide

Drive Shaft Spring Retainer
Spring

Spring Cover

Cylinder

Tie Rod
Adjust Screw

Spring Case
Piston Rod
Bearing
Mounting Bracket

Solenoid WEE S35l 7|2 37|7F XLtz of A= §lo| IAES
dursto 2 dojLf 1 AFIX QAT WEE AXLE A|7|7] 25t FEF

=

=+=E ol H 4 & (Operational Mechanism) o 3| S AlAYES R &Mt AlZiL . BEFY A Follo|E{ et &2l Air
i _ _ = . FailureO| Atxoll MEE REE w=2HAM 7| Eof WE o] JHH X2 A}

ABIHE S8 Fe=es 37|82 TAES HZoZ Lo AFXL Zoz2 SopJlEE shch,

At Azgs AFsin gAA Loz 3MstE s gdst Alduct

AIHx| 3= BAERES U0l S(Linear Movement)E TS 52| Al BSW @ =0||0|E{ = BSE}RI T} 22 ofj7{L|E0 2 REg|X|0F LEFAIS

Attt 2oz 90 S|H 2SR WESto] AlMo| dHE 2ol Wal o5t siso| BatE|0] QST A0S UFEA| 2EFA KHEHE| 0fof BF

WS AL S5t

Type B Actuator Output Torque Type BS/BSW Actuator Output Torque
4,900 4,900 T
A 4 ~ Eswls rd ;
1,960 ™ B-6 - 1,960 “re N BS-6 -2 ¥
\ R
FIN BSW-5 a7
080 | N~—|p-s—— = 980 P+t I RS -5. =
2
/| N I -
490 490 T dswa A
£ _|B-a] ] £ L BS-4 _ 4~
z AL Y z R
Q i3 a
S 19N ' S 19 &«
BSW-3
g \\ 5.3 // g IR N _Es—q‘__—’;v/
s 98 s 98 1
o A ,I % T La
5 ~ BSW-: ~l
g 49 B2l § 49 SRS e
: N / E | .
2 NG A 2 D NSN3
to =T 19 e — 37Iol Jtel 2
by =
N P > 1) at”) TorqueZt &2 & L{Ct.
J B0 —— S TSNS 0 22 ---37| 40| L2
y . — Spring2| &2 & Torque
0° 15° 30° 45° 60° 75° 90° 0° 157 30° 45° 60° 75° 90° 7t &2 L},
Driving degree of shaft Driving degree of shaft
%S 243 0.4 MPa




Specifications and Dimensions

Z-E o A| : &% 37| (Compressed instrument air)
EE s oY ©0.4 MPa: =7| MY o=
&4 35 He : 0.3 MPa £ H 0.7 MPa
Output E23 D 2H O X[ & &=
EE 7Y . HH 3t M|~ EZ10A 100,000 AO| 2 53
Housing HIAE 2+ : 0.97 MPa
T& E(Drive Shaft) 2™ : 100° (Stopper7t 2F& 35| 2k5t =i i)
S =y #He 1 2 BollM £5°
ME|A 25 82 1 —20°C £ H +60°C (8= == 37|= YAl fotot &)
ot B M J1E (SIL) : IEC 61508-2010 SIL 2 or 3 capable
Type B (Double-Action)
Type B-0 to B-5 Type B-6
Eq =)
— 7 7 T %ﬂﬁ
| y
L‘r“ LJ 5

| o
4-M Tap l jI;P

Depth-L d

2 et 0]

D1 =)

#1, Zt& Levere Type B-52F B-6 2 Z0f|0|E{2| Drive Shaftelofl &g 4= gl&u .

Type B Actuatore] 37|

mm
Type| E1 | E2 | E3 [W1 (W2 | Hy |[Ho [H3 [Hs | D Dy [D2|dy |da|b1 |ba| B | 81| 82| t |t P L|{M| h||j

B-0| 92 |111| — | 25| 54| 75| 53| 18| 40| — | 50| 35| 12 |15 | 10|12 | 50| 10 [ 12 | 2 | — |BSPT'/s| 9 M6 | — | —
B-1|128 |154| — | 25| 81|140| 60| 18| 94| — | 50| 35| 16 |15 |12 |12 | 50| 12 |12 | 2 | — |BSPT'/s| 9 M6 | — | —
B-2 | 177 |205| — | 35| 89153 | 77| 23| 99| — | 70| 55| 22 |21 |17 |17 | 70| 17 |17 | 2 | — |BSPT"/s| 12 |M8 | — | —
B-3 | 235|272 | — | 48|116 /180|104 | 32| 104 — |102| 70| 30 |285| 23 | 23 | 95| 23 | 23 | 3 | — |BSPT"s| 15 |[M1O| — | —
B-4 | 289|333 | — | 57|149 /230|138 | 43127 | — |125| 85| 45 |41 |32 |32 [114| 32 |32 | 3 | — |BSPT"/s| 19 [M12| — | —
B-5 (372|428 | — | 81|203|225|167| 34| 91| — |165|130| 45 |46 | — | — |162| 63 | 63 | 3 | — |BSPT'2| 32 [M20| — | —
B-6 | 532 | 636 | 212 | 130 | 267 | 208 | 158 | 144 | 82| 260|220 | 180| 45 |60 | — | — | — | — [ 99| 4 | 5 |BSPT'2| 26 |M16| 18 |64.4




Type BSW
Type BS (Spring-Return) (Spring-Return with Manual Operation Device)

Type BS-0 to BS-5 Type BSW-0 to BSW-5
P E P

Es E>

Wa

Wi

Hi

Ha

(BS-5 only) 6 | (BSW-5 only)
Type BSW-6

Es E»

Type BS Actuator Dimensions mm
Type | E1 | E2 | E3 | E4 |W1|W2 | W3|Ws4|H1 |H2 | H3|Hs|Hs | He| D |[D1|D2{di|d2| b |B| £ |t |t M|L|h| || Pq P2

BS-0| 163|127 — | — | 40| 62| — | 38| 75| 53| 18| 40| 41| — | — | 50| 35|12 (15 | 12| 50| 12| 2 | — |M6 | 9 | — | — |BSPT's|BSPT'/s
BS-1239|166| — | — | 30| 83| 47| 38|140| 60| 18| 94| 52| 46| — | 50| 35| 16 (15 | 12| 50| 12 | 2 | — |M6 | 9 | — | — |BSPT"sBSPT'/s
BS-2| 335|215 — | — | 38|106| 62| 56 |153| 77| 23| 99| 68| 54| — | 70| 55|22 (21 |17 | 70| 17 | 2 | — |M8 |12 | — | — |BSPTs|BSPT'/s
BS-3| 451|286 | — | — | 52|140| 80| 78|180|104| 32|104| 92| 73| — [102| 70| 30 (285 23 | 95| 23 | 3 | — |M10| 15 | — | — |BSPT's|BSPTs
BS-4| 575|361 — | — | 81 /188|100 | 91230 |138| 43|127|130| 99| — [125| 85| 45 |41 |32 |114| 32 | 3 | — |M12{ 19 | — | — |BSPT'»|BSPTs
BS-5| 745|461 — | — | 117|256 | 128 | 114 | 225|167 | 34| 91|182|139| — [165|130| 45 (46 | — |162| 63 | 3 | — |M20| 32 | — | — |BSPT'2|BSPTs
BS-6 | 931|638 [ 169 | 180 | 130 | 326 | — | — | 208|217 | 144| 82 |184| — | 260 220|180 | 45 (60 | — | — | 99 | 4 | 5 |M16| 26 | 18 |64.4|BSPT'/»|BSPT'/
Type BSW Actuator Dimensions mm
Type | E1 |E2 | E3 | E4 | Es [W1|W2|W3|W4|Hq |H2|H3|Hs4|Hs|He| D |D1|D2|di|d2| b |[B| 2|t |[ta M|L h|j|N| Py P2

BSW-0| 185|127 | 218 | — | — | 40| 62| — | 38| 75| 53| 18| 40| 41| — | — | 50| 35|12 |15 | 12| 50| 12| 2 | —|M6 | 9| — | — | 90 |BSPT"s|BSPT'.s
BSW-1| 259|166 | 315| — | — | 30| 83| 47| 38|140| 60| 18| 94| 52| 46| — | 50| 35| 16 |15 | 12| 50| 12| 2 | —|M6 | 9| — | — | 100 |BSPT/s| BSPT'.s
BSW-2| 362|215 438 | — | — | 38|106| 62| 56| 153 | 77| 23| 99| 68| 54| — | 70| 55| 22 |21 |17 | 70|17 | 2 | — |M8 | 12| — | — | 140 |BSPT'/s| BSPT'.s
BSW-3| 482|286 582 | — | — | 52|140| 80| 78| 180|104 | 32 (104| 92| 78| — |102| 70| 30 |285| 23 | 95| 23 | 3 | — |M10| 15 | — | — | 200 |BSPT'/s| BSPT'/s
BSW-4| 609|361 |734| — | — | 81[188|100| 91|230|138| 43 (127130 99| — |125| 85| 45 |41 | 32 |114{ 32| 3 | — |[MI2| 19| — | — | 250 |BSPT'/2| BSPT'/s
BSW-5| 795|461 956 | — | — | 117|256 | 128 | 114|225 | 167 | 34 | 91| 182|139 | — |165(130| 45 |46 | — |162| 63 | 3 | — |M20| 32 | — | — | 300 |BSPT'/2| BSPT'/s
BSW-61006 | 638 | 169 | 180 |1250| 130 | 326 | — | — | 208 | 217 {144 | 82| 184 | — 260 | 220|180 | 45 |60 | — | — |99 | 4 | 5 |M16| 26 | 18 |64.4|450 |BSPT'»|BSPT'.

4



Cylinder Volume and Air Supply Requirements

AWZxofo|E HES AA-S TEet o A Fofolg HFolloElE HESIT 27} gle WR
of Wt 27| eTAEe FoAUH ATsld & 7|2 ztsslofof BLCh X2 AlBS B AR &
25 ¢t o| 35 = =X 2elsiof &t gad3 7172 MU|A F=EE2 26 TS &
£ x5t ol E&uct
i O
Type B 2 %0j0|E{ 2] O -
A2 Bu|(Cylinder Volume) @ Vi
Cylinder
Type Vi Ve f *
B-0 0.05 0.07 Air
B-1 0.17 0.17
B-2 0.43 0.43
B-3 1.04 1.09
B-4 2.69 2.75
B-5 6.53 6.80
B-6 15.90 | 14.20
(unit: )

Type BS/BSW 2 0| 0|E{ 2]
A2l &3] (Cylinder Volume)

Type Cylinder Vv

BS-0/BSW-0 0.17 (= —
BS-1/BSW-1 08 | ¢

BS-2/BSW-2 0.82 (| I 1
BS-3/BSW-3 203 | 1

BS-4/BSW-4 5.39 E d
BS-5/BSW-5 | 13.70

BS-6/BSW-6 | 30.20

(unit: )




Air Supply Requirement (Flow Rate)

HZFOO|E = WEE IJHEr{X[oA A 2 x| 7}

7(I Full Stroke% &*%oﬁl ?|sto S8t 37E
mofiofstol, 1 Hije| BAeE =Y RI2=2

T L To

HJEJEE' mf, "t"= cjol ZEs5| &SsHof gt
Zest S7[5F1 "Q"= otz 2F &ol AAE L.
_y(P+0.1013\ 60
C)—V<70_.|0.|3 ) : (N£/min.)

Q= 2t E(Minute)d 223t 27]2 22 2H(N4/min.)
V= Cylinder = (Ilt s)

B Type ¥ = 01|0|E-|°| < TEV2Es o 2 & ).
P==2 &= (MPaG)

t = Zf Stroke & Z 235 A7} (seconds)

Solenoid¥ 2, Air filter, Regulator I2[X
Air Supply P|pe9P 22 HFoo|Eof HEEE= o
A-I[A-[E_| 74|A|.E| ( )OEO-to“ 7518%* A ol =
ot $SE—4.O| LTEHCH

Air Consumption
37| aH[E2 37|19 A2 &

C}
o
gsto AlZhE A FololH AS

-

VolumeS = H
"n"Alo| 2 (0| F

AEZ23)8 Soll 7522 wEEs 379 &
2 olojgct i Y 2t oteiet Zol AHLkEY
ct.
B Type % 301l O|E:
+0.
Q= (Vi+Vy) ﬁﬂ%) X @(Nﬂ/mln)

BS EE= BSW Type 2 00| E:

_(P+0.1013\ _ 1. .
Q‘V< 0.1013 )”Xao(m/m'”')

et HAFOOolEE st ¢4F7|
71 ™ &A= (Air Reservoir S MEH

HAHAOA 22 S7| NH|EHS 7|ECSR %%’f%
Z435t1 Solenoid ¥E2, #&5%, vi& S 0
o|- —_l'—leAlo 7FO|-O|.0;| 3 o

—
m-—
=

|
-~
N
i
0
_°

O TSRO A2, (a) 37|32 2 Rtehstal (b)
Housingdll HolRl= S71& t7| 522 bl &5l oF &
=

0| B52tE M Follo|E (Double—action Actuator)el &
<, &tz o|22to| A B = (Pressure Equalizing
Valve)E o|2| 7l gsli oF g},

0 F=S=Z Fol|l= 2l & &0l E H A3l ok |
XHO|7F S A U EO|0|E{ 2 RHESI= 242 O
2| &gt ot

0 A=2 HolAZ HSEHON =2 EE= BTt
Z Q5tAHLE, £35] Spring-return W &Foll0[E 2| ==
Zhs 0t 22 Aol of of A &S UALE E
2l orElYCh AFE AZZO0| FlofLtet AMZESH
=Ms ded = AFHCt

O KITZS| =322 QFAE et KITZ BAIZI=
SHFol|O|E{e| ot 28Xl Ass EaEL
ct

2|7t M-S E Ut
Spring—return Et H Zol|0|E 2| A%, &=
2|5tod, T2 Al BSWE X| ™ SIAA|

FO




of 0f 0|E{-2 Z7|ulj ZH(Air Piping)

7|2 82t (Copper &= Covered copper pipe) 2. WM MEl= S7|3 22 (Air Supply Source)zt ¥ &

2 W Foflo|E{ol ZEe [EHOHL. 01I0|E+ Atolg| lLPOIE% et Z&E22 50| H“‘”
SHX| °“:§HH4 JointE oMot/ e sttt PTFE

1. XS0 FAH HEe tjats DEMAL. ol = AHo+04 &t Hol= Z0| Hjzete = =t
ZHE|X| HFEE SHHAI2. ol= 7ol I3l ST 55
of &Hdek= o|& 5 AsHct

Type B Actuators (Double-Action)

Solenoid energized open: Solenoid energized close:

-

Pressure equalizing
valve

Pressure equalizing
valve

4-way
solenoid valve

AR ax

4-way
solenoid valve

Air supply T I T Air supply I T
IL_@JJ IN l@] IN
Air filter-regulator Air filter-regulator
Type BS/BSW Actuators (Spring-return)
Solenoid energized open: Solenoid energized close:

o . 2 ;

4-way (or 3-way) 4-way (or 3-way)
solenoid valve solenoid valve

/= W/ =

' I | ' Air supply

Air supply

6
Y

Air filter-regulator

&
Y

Air filter-regulator

Solenoid ¥ = 2| Circuit diagrams2 ™20l 3Z =X 2SS LHEHY L,



Type B Actuators T+ = 2| M EA}&

@7 Set Screw

Q— Indicator
2— Snap Ring

A2

Thrust Bearing

fa Nl o

M Adjust Screw
Nut

? Packing
&@&— Washer Cylinder
% Indicator Plate
Bolt
Housing Cover = a
2%
O-Ring !
Bearing O-Ring
Thrust Bearing
S Piston
O-Ring
shut O-Ring
aft Snap Ring—— & Rod Guide
Roller O-Ring
Bearing 78

Bearing
Piston Rod

Key
Pin
Housing
87 Bearing
Bearing Roller
Housing Cap [C I Snap Ring

Q@D Scotch Yoke
Bolt E\a Thrust Bearing
Bearing
S

O-Ring

Nut *@

Adjust Screw

Bolt

Bracket

Connector

Gland Nut

>

&) Gland (A)
Gland Bolt
Nut
Gland (B)

s 18/2 Type B-3 QU CH




Type BS Actuators 7=2| M| A}let

Set Screw

Indicator

Snap Ring

Thrust Bearing

Adjust Screw

Washer
Bolt ?\ Indicator Plate Nut
@ Packing

<N
%‘9 Cap

Screw

O-Rin34< ) Rod Guide (A)

\
Bearing 48
Thrust Bearing 4@

° Cylinder

Housing Cover

s

O-Ring

Piston
Snap Ring 4@ O-Ring
Shaft R
. éSnap Ring \
\/ \ ®7 Bearin
Roller —8 8

Piston Rod

’ﬂ Bearing —8
o *

87 Bearing

& $7 Roller

Snap Ring
Scotch Yoke
Thrust Bearing

Housing

Bearing

Rod Guide (B)

Bearing

Tie Rod

Gland (A)

dJ ]
Gland Bolt
e
@7 Nut

Gland (B)

i 282 Type BS-3 /L C}.




Type BSW Actuators T+=2| M| EA}&t

Set Screw
Indicator
Snap Ring

Thrust Bearing

Washer —
i just Screw
Indicator Plate Cylinder

Bolt é
Q/ Nut
-Ri Packing

O-Ring

Bearing '@ Bolt

Thrust Bearing

Snap Ring Nut

O-Ring /\

/Snap Ring \\
. Roller§ f\D;Bearing

Bearing

Shaft

Piston Rod

Pin

/ Bearing
Snap Ring
Scotch Yoke

@— Thrust Bearing
97 Bearing

Bearing
Rod Guide (B)

Cap Screw
Spring Retainer

Nut 6-:“‘“ h \ﬁ A
Guide

Cap Screw\ g \ // %3.

o
& Y
-
\ / / e
@\ Spindle
\ @ Thrust Bearing

Guide Cap

Bracket

Spring

Connector

Gland Nut

Thrust Bearing
Gland (A)

Gland Bolt

Nut
Gland (B)

Spring Case

N

O, \ —— Spring Cover
o ® /7 Nut
O
Q Stopper
; Bl Nut

@Q \ "7?.1_/ f Handwheel
; Washer

IZt 322 Type BSW-3 /L C}.

oI

10



Three-Position Control Valves (3B Series)

(1) 7He2IX] =™ 2 7| AXM 22 Hol=lod, o| & & =™

o =X

a
HL
>
d
0f0
S
ZOL
ial
T
o

*FIHEE He
3B Alg| =2 &7+ X (intermediate position)= 0E0[A 30 O[LHollA elele| Ztx 2 =X & 4= AFUch

Double-action type ... Special wrench supplied with the product Spring-return type ... Wrenches available on the market
S AtEtE flsl WEo| wWE JHH te S &8 5+ ASLH

(2 2= 2SS &8¢ = UG

(3) W= 7k Al OvershootE WX|st= A12A U= M7t 7hsEHHCL

(4) H &2 M (Shock Resistance)0l ?==5t04 H| 8FZto| 7+5%t ™ I 20l Positioner AF&0| E35tX| &t
(5) B7|2H|g HAAZ|L A7|E S2AZ] CAtel L,

(6) WE JHH Al ZHAZZ(Jumping & &)S &X|s7] /I8 HFH U Fol M3 ELICH

(7)W= JHm| oE (7H ekl x| /AlZHol Mef Jhs g ct

(8) FEES WEAILS =57t

Specifications

M Actuator
Operation Double-action Spring return/Spring r(leturn type with Double-action
Type manual operation device (lower row)
Type 3BS-1 |3BS-2 |3BS-3 |3BS-4
Specifications " a1 | sB2 | 383 | 384 3BSW-1| 3BSW-2 | 3BSW-3| 3BSW-4
Operating media Compressed instrument air
Standard operating pressure 0.4 MPa
Operating pressure range 0.4-0.7 MPa or less
Housing test pressure 0.97 MPa
Operation torque (ending)| N'm 36 94 235 598 27 71 176 449
Vi(1) 0.17 0.43 1.04 2.75 0.39 0.80 2.29 5.73
Cylinder V2(1) 0.17 0.43 1.09 2.69 0.18 0.48 1.39 3.93
volume V3(1) 0.19 0.52 1.30 2.76 — — — —
V4(1) 0.33 0.82 2.23 5.39 — — — —
Air supply port Rc1/4 Rc1/2
Drive shaft rotation 90° (+ 5° at each end)
Intermediate opening adjustment range 0-30°
Ambient temperature —20°C to + 60°C (supplied air should not frozen)
Standard coating Acrylic modified alkyd resin heat resistant paint/Paint color: silver

_

agggrs“sig:i%s Specifications agégrs‘gg:i%s Specifications |
1 Standard specifications: SMC product AW series, CKD| 3 Standard specifications: SMC product AS series
Filter p'r(;ﬁicizq_j iste res lieving t Speed Spec. |Coee- Max flow rate”|  Operating | Ambient| Actuator size
regulator EAFEF type (relieving type) controller Mode) tion cglr:tf'gl;g]d/ pressurerange| temp. | common with
. Spec. | Air | Flow rate* Pressure | ampjent | Actuator size i ode B9 | ree flow (MPa) ©C) | 3B/3BS/3BSW
1 piece o ir;et N¢/min Srztr:geg temeerature common with 1 piece AS2000-02 , 250/340 00540 | 560 3B-1
(Ro) | (approx) | (MPa) | [(C) |3BABSBSW AS3000-02X81| | sio/810 | o 3B-2-3B-4
B7019-2C-GB 1/4 600 0.04-0.83 | 5-65 3B-1 Note: Speed Controller®| A x| ¢|%|+= Full Open Position2} Closing Side%
AW30-02BG-R 1,500 0.05-85 -5-60 3B-2-3B-4 Intermediate Position2| Ato|Lct,
*Ff 72 7Y 2Hol 0.5MPa ol B EF7} 7|2 L2l Atefooq
22 20| ot 7o olm =2 oty e ol .
5 FIEl G 060 MPa O 2 S ©1% G2 0.59 MPa -k 27} 20°Co| 2 Speed Controllere] Orifice?} 2H515| €l Z 240l A |
owl| material: Polycarbonate 2t elujct
Nominal filtration rating: 5 m R S5/ K2 9/(:80 to 60°C)2F T2E9(-10 to 80°C)E Model
Numberoll FA|=|X| g&UCH w2t Mg Ao WA ghct
2 Standard specifications: Konan Electric CO., Ltd. product 454| 4 Standard specifications: Koganei product KM series
Solenoid series Silencer + Compact type
valve « Pilot operated four-way solenoid valve: Single solenoid ] spec. | — Hecff;; Noise | Ambient| Actuatorsize
q Spec.| Const Air c Pressure | Ambient P 3 pieces h:r??;; area m?lgw reduction | temp. | common with
2 pieces - onvs r- inlet V | setting {omperatue ower Model (mm?) Moty (dB) (°C) |3B/3BS/3BSW
Model uction R Value| range o source
) (MPa) | () KM-22 % | 21 | 1,000 |18ormore| 5-60 | 3B-1-3B-4
4548202C-E01-H1 Exolosi AC100/110V
4545202C-E01-H3 X;Zi':" Y |1.19]0.15-0.8 | -5-+60 | AC200/220V SI "“3""“':‘?9%0;";65”3304
I51S000C-E01 5 | " Dooav ountin * Bracket:
4543202C-E01-H5 DC24V Sorews [¢] - Conmector: SCS13A
*Manifold Solenoid & == 27l 2| Single Solenoid ¥ 2 2 z=&l & LCt. bracke’ts’ air| "Ar pipe/fitting: steel pipes/brass joints (stainless steel is optionally
Suffix “-00-G30887” 7} Model Numberoll &7} € Ch. pipes 1 Set available)

*7|EF 2 MIALZ] (Pressure Equalizing ValveS 2| &M ALE]) = SMH 22 JHseh ct

11



== M7 ZE (Operational Mechanism) <Double Action>

B The Fully Closed position

(1) The fully closed position

13} 22| Solenoid ®WE =C} MY0| HX|H,
37| 240] Solenoid #E 1818 Saff MEO
Chamber V22 & & LCt.

AIBIE Chamber V2o = 37| 2ol 2
of 22 IAES 9F 222 0|aA7|1,

oll0|Ef £3 % (Shaft)2 flollM 2 uf Al
E b

12
T

sto 2 S| Mg,
HollM Disce 2Hs| =3l 2ol Zot

L C}.

I

30 © XM
o> >0

B The Intermediate Position

(2) Open at the first stage :

(BZPHYE 30 ofLh)

0| Solenoid ¥ E2& X|Ltx{ Al2IEChamber
Vv3ez FE Lt A2 Chamber V32

Blgtol 2Zel hE TAES 150

— 1

Stopper 7HX| &0l HFo[O|E £ =
2 QoM = of BAA o 2 5| FH Ch
(02t 302 HLLollA).

o| AlH0llM Disce SZHHE2I X7 X 22|
i axig|of 2™ E L},

Hl The Fully Open Position

-

(3) Open at the second stage opening(2+X 7if &
Solenoid #E 1ol Melo| E0{2 I, 7|2
Solenoid #E 1Hg S3tsto{ A2IH Chamber
1Ho 2 RYUELCH SAlo| AZE Chamber V2
off A= B7|2=0| Solenoid #=12| & TH

(=] =]

= 6]

Al2IE| Chamber V12| 37|2t0| 2% At Al
1E 2% Z22 0|SA|7|2 /oM 2S4S I

A =ollo|E] £ £ A Esto 2 Fofzt

Ct. O|AlHo A Disce 2HMs| G2l ¢ x|of o}

&t

(4) Closed at the first stage
(BZHEE: 30% old)

A FollolE] &F0| (2)oF &2 FR, ST
(Speed Controller) & AFE3510] 25 £ = 0|

7tseet (4)

(5) Closed at the second stage (27 E&])H
FoflolE 232 (1)nt Z&4ch

12

* Opening position
adjustment mechanism
(fully closed to 30
degrees open side)

Piston (a)

Piston (b)

L PR LF

ozt

-Specification for }( }%
- ——— &
accessories N
(1) Filter regulator | |
(1 pec) : % e B — . (% S —@
(2) Solenoid valve | | ®
(2 pcs) DL
(3) Silencer L[ solencid valve 2 Solenoid valve 1
(2 to 4 pcs) .
(4) Speed controller A NV De-energized B . ”érié;gigeeé
(1 pc) . T ® _—
(5) Speed controller ] E‘_@ @— E ®
(optional) LvJ
« HM mekol ARzt Ui o| Air Pipes ME
Abgh duich (2% 7| ¢xl)
PIST(:H (a) PiSlT (b)
Ml
i 8l
Solenoid valve 2 Solenoid valve 1
\ ffffff De-energized Y\ |||/ [/ De-
T T energized

gp

LO—
R

Air supply

i

i=
[ oo

T Solenoid valve 2
]

ffffff De-energized

T

il
T energized

L

Air supply




25 M|F Y & (Operational Mechanism) <Spring Return>

@ Spring Return Actuator <Type 3BS/3BSW>

GHE 282 Type 3BS A4 F0l|0|H & LIEFH L E})

H The Fully Closed Position

(1) The fully closed position

2

Solenoid # = 11} 20f M0[ RtEHe
Al2IH Chamber V12 Vool = 37|
2 Solenoid ®E 13} 29| HiETFHES
& WX LE7tD DisceE 25| 2l

|
2 3ok

om o

S

<

B The Intermediate Position

(2) Open at the rst stage

(B2 et=: 30 o|Lh)

Solenoid # 212| Melo| Ath=|1
Solenoid ¥E 29| Malo| HAX|H Z7|
0| AlZ2IE Chamber V22 E0{7}A = 11,
I AE (b)7F 1EHA4 StopperZ ol s&H
Ct. 2ol Bl2E A4S ) HFollolE &
H F2 g B2 S| MstI (0T
A 30% oftfe| H?l), Disc= &7yt
RIx[7HX| ol S 7t HEU

Hl The Fully Open Position

(3) Open at the second stage (28 71 2}

(4

~

Solenoid ¥ E 1of Mo EH2HM Z7(¢t
0| Solenoid ¥ = 12 S1l5t0{ AZI
Chamber V122 RQ= 1 TAE (a)7
YZo2 SA UL Ct HFOOIH EHF
2 2ol M HI2IE US of EHA[A geke 2
3|™M5tal Disce 2| LEl fIxlol E&
=

Closed at the first stage

(EZPHYE 30 ofLl)

=gl =

HFOOIE{ o] SE2 (2)°F Zond, £
THT|E Soll &2t HEE =F e = US
Gt (4)

(5) Closed at the second stage (2t 2 &)
H=oflolE{e &t (1)z &4t

Specifications for accesories
(1) Filter regulator
(1 pc) T

(2) Solenoid valve
(2 pes)

(3) Silencer
(2 pes)
(4) Speed controller
(1 pc)
(5) Speed controller
(optional)
« "M mokol ARZEY L 9| Air Pipes
it (2lF 71 gxl)

Piston (a)  Piston (b)

l !

S =

AEH ALEF

o=

Solenoid valve 2

,,,,, De_
energized

Solenoid valve 1
De-energized

Piston (a)  Piston (b)
! L
1
q -
- " -
[ V2
5 & I

J

%W Air supply

iniz

energized

Piston (a)

Piston (b)

olenoid valve 1
De-energized

M

Y]

De-

13




A= 78 (Operation Type) <Time Chart>

Solenoid # 2 & M st5lH

Ch3ot &2

ollol& S=fo| Jhs ' ot

1) Open/closed at two stages: Fully closed (1)— Intermediate (2)—

Fully open (3)— Intermediate (4)— Fully closed (5)

[Action pattern]

SOov1 SOVv2 Valve pos. Time
(1 | De-energized | De-energized | Fully closed —
(2 |De-energized| Energized |Intermediate t1-t2
® Energized Energized | Fully open t3-t4
(@ |De-energized| Energized |Intermediate| t5-t6
(® | De-energized | De-energized | Fully closed t7

Note: SOV = Solenoid @ 22| Zokof @lLc|

[Operating time of the
actuator]

e “t5”= Speed
Cpntroller2 =%o0|
Jhs gt ot

.“t2 !!’ “t4 ” j_El_T'_ “ts”%

At Atoll ofsh HA|IE L e}

2) Open at one stage/closed at two stages: Fully closed (1)— Fully open

(2)— Intermediate (3)— Fully closed (4)

[Action pattern]

SOVA1 SOV2 | Valve pos. Time
(1 | De-energized | De-energized | Fully closed —
@ Energized Energized | Fully open t1-t2
(3 |De-energized| Energized |Intermediate t3-t4
(@ | De-energized | De-energized | Fully closed t5

Note: SOV £ Solenoid ¥ 22| FoF

et

[Operating time of the
actuator]

e “t 3 "= Speed
Cpntroller2 =%o0|

Jbs gt

o t2 7, "t 47 ALS XKl
o3 HAIFUCL

3) Open at two stages/closed at one stage: Fully closed (1)—

Intermediate (2)— Fully open (3)— Fully closed (4)

[Action pattern]

SOVA1 SOV2 | Valve pos. Time
(@ | De-energized | De-energized | Fully closed —
(2 |De-energized| Energized |Intermediate t1-t2
® Energized Energized | Fully open t3-t4
(@ | De-energized | De-energized | Fully closed t5

Note: SOV = Solenoid ¥ 22| Foko{ &Lt

[Operating time of the
actuator]

e“t 5 7= Speed
Cpntroller2 Z=Xo|
Jts g et

et 27 “t 4 7= AFEXlO
ofall HA|E L.

4) Open/closed at one stage: Fully closed (1)— Fully open (2)— Fully
closed (3)

[Action pattern]

SOV1 SOV2 | Valve pos. Time
(1 | De-energized | De-energized | Fully closed —
@ Energized | De-energized| Fully open t1-t2
(3 | De-energized | De-energized | Fully closed 13

Note: SOV = Solenoid ¥ 22| Z2kof ¢L|Ct.

14

[Operating time of the
actuator]

e “t 3 "= Speed
Cpntroller2 =74 0|
st

ot 2 "= ALSAt0l| ofsf
AlEH e}

( )
I I I I I I I I
15 | | | | | | | |
S | | | | | | R
» ro Lo Operating
@ )
AN || timeof
ol § i | actuator
5| = | |
> 3 | |
S Do Do
I I [—0—‘ I I I
I I I I I I
Sov1 e R ———
I I I I I I I I
L L L L L L | I
I I I I I I
‘ I I I I I ‘ I
SOV2 I I I I I I I I
Lo Lo
Lo Lo
12113 t4 115 16|17 | |:|
I I I I I I I I SOV
Time (1) energized
& J
( )
I I I I I I
8 I I I I
I I I I
2l ' 1 1 Operating
S £ I I I I 1
08) g ! Lo time of
o § | | actuator
3| = | |
> 3 | |
38 | |
© I

I I I
I I I
P
Sov1 : : ———
I I I I I I
‘ i - ‘ |
SOV2 I I I I
l l Coao
| | I T
| t1 | t2 1131415, [:::::::::::::}
I I I I I I SOV
Time (1) energized
(. J
( )
= I I I I I
D I I I I I
w| S [ )
2° ro Operating
=y 2 .
g3 Lo time of
o
ol € iy actuator
= | £ |
g |
B |
3
o I I

[%2]
o
=

Sov2

SOV1 T T T
I I I
I I
I I
SOV2 I I I I I
[ T |
[ T |
1213 t4 | 5 |:|
I I I I I SOV
L Time (1) energized
-
I I I
D I I
w| S I -
£ . ! Operating
c = .
3| = ! time of
o g |
2| 5 | actuator
IR
g I
3
S ! !

1

SOV
energized

~




Actuator Sizing (For Ball valves)

e XMe E23s e 2, &5 MAL Ux IMPORTANT
of 2 FHl=Aol w2t et H ot otehof E'4/\| W FOO|Ef MEH Al of2iet 22 MEE=2
s SHMzAT 8 Yutsoz Az wt A o2 Zetch
H| Aol HEE= % F0l| 0l Eijl% Ct2nt 254 n 7 A IOZILE_4,0| ol EHCt =2 3%
Cf. OFEH;HI A E BErIof thekd® 2 BS2F BSW A SRS =2 He
olE &g b5 Bhch Siel 2i7j0] G HE 2k 47
nZtES 242 0| 0.4MPa (60psi)Ect ZF2 EdF
For TDZ Series (Full Bore Design)
Size in /2% 3/48 e 17/22 29 292 @B AlE 5B 68 8B 108
mm 155 204 25e 404 504 654 80~ 1004 1254 1504 2007 2507
Service Condition A'B.C/A/\B.C/A\B.C/A'\B.C/A\Bi.C/A'\BI.C/A:BIC/A'BI.C/A:B.C/A'\B.C|/A:BIC|/A:B:C
Service Pressure Do . 1 Do : Do 1 Dol
MPa o 3 P 3 P 3 P
05 — ; aEe el -
10— = ? SEE. - ? G
BB [, 1 B o B e i
B0, | |BA B2 | _ B3 B-4 B-5 N
1.5 ‘ ‘ j ‘ : ‘ ‘ % : : : 1 1 ; ] ] ; ; | H 1
2.0 f i —
B : ‘B! ‘
25 o 13 . | {5
A FOTOIEISl A8 HeAE KTZ He/EOE 2oleiiA e
For TB Series
Siye | Full Bore Type inimm)[1/25(154)] 3/4 (20) [ 1(25) [11/4 (32)[11/2 (40)] 2(60) [21/2(65)] 8 (80) [ 4(100) [ 6(125) [ 6(150) | 8 (200) [10(250)
Reduced Bore Type in(mm) [3/48 20%| 1 (25) [11/4 (32)[11/240)| 2(50) | — | 3(80) | 4(100) | 5(125) | 6(150) | 8 (200) | 10 (250) | 12 (300)
Service Condition A'B.C/A'B.C/A\B.C/A'\B.C|A'B.C/A:B.C/A'B.C/A\B.C/A\B.C/A'B.C/A:B.C/A'B.C/A'B:C
Service Pressure
vy 1 2 1 e |
] e ] = B
] ] — | Bl L= B-6
1.0 1 1 ! 1 B-1 1 ] Bl B 31 | ] 1 ] | | | ]
B-0: |B-0 N N B . B4 | | B-5
1.5/ ‘ B-2—— W | u
g2 | - R R BN
2.0 S L - . ‘ni TB-47 [ :B—1B-5 ] :
' ' ' —_— ' ' wa g ' i ] '
ii ‘B! . ] 5 ‘ B |
b e Co 4 19 ‘ ] ‘
2.5 ‘ B i3 ‘ P 16
=W F0f|0[E{ Q] A8 MEAd 2 KITZ EHEI7“°§ o5t A2,
Fluid Condition
Fluids Service Condition Light Load Service Heavy Load Service
= up to 1.0 MPa: A 1.0~2.5 MPa: B
37|, 28, 7t up to 0.7 MPa: A 0.7~1.8 MPa: B
Mol =2 74 up to 1.0 MPa: B
Kerosene, naphtha, alcohol, 2 7|E} &0 up to 1.0 MPa: B
Oil-free AMH|A up to 1.0 MPa: B
£2{2|(Slurry) ¥ </ F 22 S Z &5 7| B A up to 1.0 MPa: C*
ME|A 25 : 24 25 W2 Seat S0 TE RS “Ball Valves 712207 (E-201)2 EESHIAIL.
aelo] FAHE Melst 7Bt RAl= KITZR 225t AI2.
*0f 2 F7{2 2| Mu|A(Powder, Slurry, Dehydrate, Cake &) = &7 2t E&ts(Polymerize)7t #1412 A= KITZ2 22|5t0f FHAI2.

15




Optional Accessories

KITZ B A2|= HFol|O|E{e] A ofell o] etMAMe|S0| MEHM o2 ALETts i Ct
7| E} &M A 2|0 CHSE 2ol = —47([ CHE| ™ol sl TAAIL
Product code Purpose Specifications
Limit Switch M7 AMSE AlZ=tsto] W B of Jiul e = HAM 9| LS AC: 10 A/125V  10A/250V 10 A/480V
%L HAst= l':‘” | Alf"aE' l‘—| I':|' |- , DC: 0.8 A/115V 0.4 A/230V
Zt JWE FEA|Z|of 22|= Limit switch A2 S =™ LS-F AC:5A/125V  5A/250V
L oA-I - _
LS Hh*F & (Weather-proof)| g, iy DC: 0.8 A125V 0.4 A/250 V
LS-F &= (Explosion-proof) Contact circuit:  2-Circuit double break
Solenoid Valve ™M71™ Alzo esli 371 =& Mt | Connected pipe: BSPT1/4
Double—action 2 #F0f|0|E{= 428 Solenoid W2 | Working pressure: 0~0.97 MPa
7t, Spring—return & Fo|0|E{oll= 17H2| Out Port| Orifice diam: 6 mm
S M — —
SOV i = d(Weather-proof) 51" ‘ozl 4urst Solenoid M= & 3%+8H| Electric current: 100 V/50 Hz 100 V/60 Hz

SOV-F 2= (Explosion—proof)

Solenoid ¥ 2 & A&},

110 V/60 Hz 200 V/50 Hz

200 V/60 Hz 220 V/60 Hz
Supply source connection
Weather-proof: ~ DIN terminals or terminal boxes
Explosion-proof: Electric wire pipe threading

Air Filter-Regulator

F+R
(AL ALS F)

M2 AL2E= Z7|0lA S0} 7|El O] 22! =
S22 MASD MY HolA B7|4S £Z
171 2i5t0{ ALZ ELich,

il

=

°I' rir :10

BSPT1/4, BSPT1/2
Max. inlet pressure;
0.97 MPa

Max. outlet pressure;
0.04~0.83 MPa

Connected pipe:
Working pressure:

Setting pressure range:

A FololH 2F K=& UE AlZH

Connected pipe: BSPT1/8, BSPT1/4, BSPT1/2

(ol-Ed H It ALE

=)

S HIO|{AM air-to—open E£ air-to—airel

D= 7hohs| A AL

Speed Controller Z|
Operation pressure: 0.97 MPa max.
SP
Quick Exhaust Valve HZFoo|E HSEEE S0iFHCE 0 ZXl= % | Connected pipe: BSPT1/4, BSPT1/2
FHOlo|E{7t Az o 2ok REE|= Ao|T ZE | Working pressure: 0.97 MPa max.
QE L5 M3AMZE 5 UFUHEL RIREAT]
(Positioner) Quick Exhaust =22} 4 ALSE
= el
Valve Positioner wrExEHES sl AEgHCh  2IXIEAIZI= | Connected pipe: BSPT1/4
Double—action 4 F0il0|E{2} Spring—return 4 & (pressure gauge: BSPT1/8)
ofo|efofl EC} Zrate = AGSLCt Camel tc'{g Supply pressure: 0.3~0.7 MPa
=

0.02~0.1 MPa or specified
E/P: (input signal)

4~20 mA

20 N£/min. max.

(at supply pressure 0.5 MPa)

Signal pressure:
Signal Current:

Air consumption:

C

Silencer Yool vf7| 238 E0|7| ?I5t0] AL RHEL S | Connected pipe: BSPT1/8, BSPT1/4, BSPT1/2
= Al Solenoid #E2o| viZ|F+Hol AX|IRH | Working pressure: 0.9 MPa max.
K b
Air Filter HSA AL EE SYI2FEH 57, & # 7|E Connected pipe: BSPT1/4, BSPT1/2
|22 2 M7Hst7| fl5t0 ARZFL CE. Working pressure: 0.97 MPa max.
F
Pressure Equalizing HFollojEle] +SES2 flol T 7142 | Connected pipe: BSPT1/4
Valve |2t 7S5t 2HE7| f15t0] AFSFCt Working pressure: 1.37 MPa max.

Ak Mol =
S =S=

o

KITZ &

%
)

16

AUt 7B ALERE SR Jhs'HE




KITZ F Series Pneumatic Actuators2| £33

Type FA (Double-Action)
Drive shaft
Position indicator Piston
Gear rack
S5
|
NS=7
Stopper bolt
Pinion gear
Piston

7l Hgol et LFALEO A HSE 271 2| Pistontf Gear-rack2 £ T4 &
A —

= N _ o Monobloc &Z& S8t Mu|A =0 %

« ?|x| ZAI7|(Position Indicator)= % F0ll0|&{ & 90 Gear-racke| Pitch line2 HF0ll0|& Housing &
T 3 ME o, ¢F 2o 2= He|M S 2l 90 of ¢ x5ty F7le| | AE0| Gear-rack®} £&Hstod
T =Egs AsHoh stLte] Moz FxE UL olzst 52 A Fo 0|

E{7} &5t St TAES fIXE $£H22 X5t

- WZXOolE = 3™ ZH2 (HWE JHHS) 90T =4 ZotEL o}

3|XMe Qsll ZI Stopper EEQ} 8 =X™o| Jtsg _ ,
Uct pper s - - 742 £&¥37]9 Housing
Housing 2t Piston—rack<] ZEA Die—cast
_ . . . - . i 2 Al2stoz M HEO|E =S [
« ¥ & Air-fail-close 2E=+& 9 #00|Ef Housing AlumlnumKE FE 2 2 M ;‘Hw_oﬂ [Ef = 20%
Reverse Endoll A =2 FIE2|X| & ZHEFSIO] Air— ~40% 2 E0{(KITZ DAIE|= Y FOl|0|H et H|W) EE
. el e CHy| =2kd| 8 —to—wei i0)= JHAfsH
fail-open =2 HMeatet 5= AS LTt (Spring- %LH“:l} &8l (Torqueto-weight ratio)& 7H 413!
i ~ _

return ol stet
=K E=S &

« Blowoff &X| AZ& FIEZ|X|| 254 RH S W aH

Hstod £ E23 5 o[/ &F YHs EE Eg'xueiﬂv EHVEY?SEOS5824151 %@E;E ﬁ%g}ﬂgﬂ By
T SiEH e (Spring—return fraiof 2) ot OE'—I 2} o Zofl o Ef Ho;uingoiTSEolgngid @EAE'IJ_

L ¥s mE pos Ay sisaNE BRsiu A SicboxE TR EEEE Mountingol (28 L
H &2 2 XM Double-action®} Spring-return 7% Ll cf em top = ===
FIHX 2 ™ &o| ks gt . '

ol 0f|0|E = KITZ DJ, XJ Series Butterfly & 2

ZHH olH of &=tet = AFH .

Piston-rack Z&A| &H F=(Monobloc Casting)€  mywie|sl \ounting2] CHEAMS 2|5 24 =0 0|g

AtESHH KITZ D Al2[= AFoolE et BIRSITS  Ficiol w0 o|HE (HUE)SE SMOZ B2E

M, Housing X7t 10%~15% &4Astl WEHAS S

et 371 av|Ee "ok = ASH o



Type FAS (Spring-Return)
Drive shaft
Position indicator Piston
Gear rack
Stopper bolt
Pinion gear
Piston
Spring cartridge
Actuator Output Torque
Double-action unit: N-m
Operating pressure (air)
Type
0.4 MPa
FA-1 19.2
FA-2 454
FA-3 91.6
FA-4 182
FA-5 338
FA-6 800
Spring-return unit: N-m
Operating pressure (air) Operating force
Type 0.4 MPa (Spring)
0° 90° 0° 90°
FAS-1 121 8.0 7.6 1.7
FAS-2 275 19.1 18.0 26.3
FAS-3 55.3 37.3 35.2 53.1
FAS-4 111.0 75.7 74.7 110.0
FAS-5 206.0 140.0 137.0 203.0
FAS-6 487.0 325.0 319.0 481.0

18



Specifications and Dimensions

s o & ot=% A7] 7] (Compressed instrument air) = & & JtA
s oy %% #E 9% 0.4 MPa

zE o4 He 0.3 MPa £E{ 0.7 MPa *

A2l (Cylinder) Al & -3 : 0.97 MPa

= (Shaft) & ™2+ 1 90°+7°

MH[A 22 :-20°C FH +80°C (=== &7|= YX| gtotof shtot)
7|'| %’“E EAI (Opening Degree Indication) 15_'12_—9| —EE.L% P(._l EA|7| (0 —?—E‘I 900)

%‘E ;él'il' %E,_H)q(\,m Mounting Flange) 1ISO 5211

QfMIAtE| EFEF o . NAMUR VDI/VDE 3845

Coating Baked Polyester Resin Coating

*H|EFE S UH S KITZE 22/510f FAAI2.

Type FA (Double-action)

40 M6

Depth 12

% [ﬁ@ of 2
Ky [ i g —
i O ‘ & U [ o 4-M5

2 B 4] d Depth 10

v i

4M5 e
Depth 75 Depth 7

4-R1
Depth L1

4R2 4R

4-R1

4-R2

Type FA Dimensions -
unit : mm
Type Ei| E2 | Wi | W2 | W3 |Ws|Hi | H2 | H3 | Hs | Hs | Dy | D2 | D3| Ds|Ds| dy | by |b2| B | 2 t R1XL4 RaX L2 RsX L3 P
FA-1 87| 87| 50| 54{ 30| 0| 70| 55| 3 |12 | — 5650 | — | — |35|25|15|12| 9| 50|16 | 2 | M6x9 — — BSPT1/4
FA-2 107(107| 54| 70/ 30| 6| 80| 68/ 3 |12 | — |50 | 70| — (35|30 |15 |12 | 11| 70|16 | 2 | M6x9 | M8x 12 — BSPT1/4
FA-3 128(128| 57| 87|30 | 13| 86| 78|/ 3 |12 | — |50 | 70| — (35|32 |21 |17 | 13| 70/ 25| 2 | M6x9 | M8x 12 — BSPT1/4
FA-4 160| 160| 68|111| 30 | 21 |108| 96| 4 |12 | — | 50 | 70{102| 55 | 40 | 21 |17 | 17| 95|27 | 3 | M6x9 | M8x 12 | M10x15 | BSPT1/4
FA-5 208|208| 78| 135/ 30 | 30 [ 132|116 5 |20 | — | 70 |102|125| 55 | 50 | 29 | 23 | 27 | 113| 34 | 3 | M8x12 | M10x15 | M12x18 | BSPT1/4
FA-6 268|268|101|178| 30 | 45 | 152|125 5 | 20 |157| 70 | 102(125| 70 | 60 | 41 | 32 | 27 |134| 34 | 3 | M8x12 | M10x15 | M12x18 | BSPT1/4
Type FAS (Spring-return)
40 _40 v6
Depth 12
g ’jE/ e% t g 92 12 ’gﬂ_{@
B | ‘ i QEE*E o 4-M15
i 5 #ler om0
o |7
% Depth 7.5 g‘e“ffh -
E: E2 4R1 4R2 __4R1 4R3 4Rl 4R2
[ n Depth L1
P2
Exh Port
Type FAS Dimensions -
unit : mm
Type Ei1 | E2 | Wi |W2| W3 |Ws| Hi |Hz2 | H3 | Hs | Hs | Dy [ D2 | D3 | Ds | Ds | di | by | b2 | B | £ t | RiXLi | RoXL2 | RsXLs P1 P2
FAS-1 |132| 87| 50| 54|30 | 0| 70| 55/ 3 |12 | — |50 | — | — |35 |25| 15| 12| 9| 50/ 16| 2 | M6x9 — — |BSPT1/4| BSPT%
FAS-2 |166|107| 54| 70/ 30| 6| 80| 68| 3 |12 | — |50 | 70| — | 35|30 | 15|12 | 11| 70/ 16| 2 | M6x9|M8x 12 — |BSPT1/4| BSPTYs
FAS-3 |203|128| 57| 87|30 | 13| 86| 78/ 3 |12 | — |50 | 70 — | 35|32 |21 |17 | 13| 70/ 25| 2 | M6x9|M8x12 — |BSPT1/4| BSPT%
FAS-4 |290|160| 68|111|30 | 21 |108| 96| 4 |12 | — | 50| 70|{102| 55 |40 |21 |17 | 17| 95|27 | 3 | M6x9 | M8 x 12 | M10x15 |BSPT1/4| BSPT'
FAS-5 |363|208| 78|135|30 | 30 [132|116| 5 |20 | — | 70 | 102|125| 55 | 50 | 29 | 23 | 27 | 113| 34 | 3 | M8x12 | M10x15 | M12x18 |BSPT1/4| BSPT"
FAS-6 |483|268|101|178| 30 | 45 |152|125| 5 | 20 [157| 70 | 102|125| 70 | 60 | 41 | 32 | 27 | 134| 34 | 3 | M8x12 | M10x15 | M12x18 |BSPT1/4| BSPT"s

19



Operating Mechanism

Type FA (Double-action)

(1) 1 ZEE &5t01 Chamber AZ ReU=+=
37142 FIHe JLI*EOE Gear racks 2
Uil AZHMES AFA|7|0{ 2HEEE S35
o XFS7IE ct AL

(2) Gear racko| #HEE ZZA|F|7] 9|50
Pinion gear-‘EF SS HBIAA 2Eoz 3T™AIZY

(@) BAHLHS °49E 7tstH g =9 047‘*%%
2Mst Al

Cylinder volume

Cylinder volume

Type FAS (Spring-return)

(1) 1H ZEE F35I0§ Chamber AZ FUHE =
Jjete FIle] H[AES=Z Gear rackg2 Lo{Lf
Amals QEAFI 28 ZEE E35o] R3]
= =

@)Gear rack0| WEE ZZA|7|7| flohA
Pinion gear2t £ UHA[A HEe = 3MA|Z LT},
(8) Chamber A% Z7[7t Solenoid WEE &sllA
L7 bE =2F AZElol slo] mAES Hirfgt

=
stoz YOo{Lf Gear rackOo| HEE dHiffdtsioz
ZHESAIFI7] Al 2 AlAHE#Eoz 3| MAIZ L]

unit: £ unit: £
Type Chamber A Chamber B Type Chamber A
FA-1 0.15 0.15 FAS-1 0.15
FA-2 0.31 0.31 FAS-2 0.31
FA-3 0.61 0.61 FAS-3 0.61
FA-4 1.29 1.29 FAS-4 1.29
FA-5 2.29 2.29 FAS-5 2.29
FA-6 5.27 5.27 FAS-6 5.27

20




Actuator Sizing

A7|= ctge =H g ubs4H ot
Ball valves Butterfly valves
2= b 0.4 MPa =hs o 0.4 MPa
MM E e B2, 2O 243, 1.0 MPa o =2 fe32 74
o3 == (% O LIEHAEX| =AM A QP o 5HA| S LHERH T = Adst 2, 827 (2T 1,000 cp)
= iMF;a) o ot =i 2 m/sec 7HX|
-B7| 7IA == AE FCf 242 0.7 MPa - —
_ = e == — 7H 25 0°C & i, 25 2= (Working Temperature
A =& 20°C 2| +230°C (Seat=S 2 Lol A X 3HE) PR — ( r = |p+ )
= —— FH el EF, 2 J2|1 2422 Rubber Seat2 ¢lsf 2 L Ch.
CrR el Zzdld KITzol 2218t 2. o E Al a Hols BIEAl AL T7lo] 24sto] S skl e sof BLcH
O =7} ’
a. Kerosene, Naphtha = Alcohol2t Z2 S0 ct2 1f WEyl HTo| M| S TTOIAM AFRE A E3| S0 ofF MAlSHZ=o|2
b. Powder, Slurry EE+= Dehydrate cake2 CHE If ;%04 0‘?%.4 ct = e=em ToEs T
c. 23 0lL} Oil-free TreatmentE Rk MH|A ZZ0|M ALZE 1l
@UWE=E 37/ig olM RHE5HR| s B
@Y =7} Control ValveZ AIRE A
Type FA (Double-action)
™
“® A |10 |15 |20 | 25 | 32 | 40 | 50 | 65 | 80 | 100|125 | 150|200 | 250 | 300
Type Bore Msatt]:rlilal Class |Conection
Product B|% | v |% | 1 [1va|1%2| 2 |22 3| 4 | 5 | 6 | 8 |10 |12
coding
Threaded |10FCT
Cast Iron
10FCTB
JIS 10K Flanged FA-5 FA-6
Ductile Iron 10STBF
Threaded |10UT
Full Bore Stainless JIS 10K 10/150UTB
| s
Steel | Class 150 10/150UTDZ FAl FA2  |FAS| FA4 FAS
JIS 20K 20/300UTB, FAGH
Class 300 20/300UTDZ
1S 10K Flanged r—
s 10/150SCTDZ FA6
g Carbon Class 150 FAS
= Steel JIS 20K
©
8 Class 300 20/300SCTDZ
JIS 10K
10UTR - 150UTR FA-6
Stainless | Class 150 A3 —
Steel
ee CJllaSsszggo 20UTR - 300UTR FA-6
Reduced Bore Flanged
Class 150 150SCTR FA-4 FA-6
Carbon
Steel
| Class 300 300SCTR FAS
Full Bore (3 way) , 10UTBAT (L) A FA-2 FA-3  FA4 FA5  FA
Stainless
Full Bore Steel JIS 10K Flanged
(PFA Lining) 10UTBLN FA-1 FA-2 FA-3 FA-4
10XJME
Aluminum
JIS 10K 10XJSME
Butterfly Valve Wafer FA-1 FA-2 FA-3 FA-4 FA-5 FA-6
10DJ
Ductile Iron JIS 16K —
BS PN16 16DJ, PN16DJ ‘ FA-4 | FA-5

*FA-5 for TDZ.

21



Actuator Sizing

Type FAS (Spring-Return)

Size A|10 | 15| 20| 25|32 | 40 | 50 | 65 | 80 |100|125|150 | 200 | 250 | 300
Type Bore Msa?::il al Class |Conection
Product B|% | o | % |1 |1va|1v2| 2 |22 3 | 4 | 5|6 | 8 |10 |12
coding
Threaded |10FCT
Cast Iron
10FCTB
JIS 10K Flanged FAS6
Ductile Iron 10STBF
Threaded |[10UT
Full Bore Stainless | JIS 10K 10/150UTB 7
Stesl Class 150 10/150UTDZ FAS-1 FAS-2 [FAS-3 FAS-4 FAS-5 FAS-6
JIS 20K 20/300UTB, .
Class 300 20/300UTDZ
0 us oK | anged /
§ Carbon Class 150 10/150SCTDZ
35 Steel JIS 20K /
= .
2 Class 300 20/300SCTDZ Z
JIS 10K
10UTR - 150UTR FAS-6
Stainless | Class 150 FAS-3
Steel JIS 20K =
Class 300 20UTR - 300UTR
Reduced Bore Flanged
Class 150 150SCTR FAS-5
Carbon
teel
Stee Class 300 300SCTR
Full Bore (3 way) ) 10UTB4T (L) A FAS-2.  FAS-3 FAS-4FAS-5  FAS-6
Stainless
Full Bore Steel JIS 10K Flanged
o 10UTBLN FAS-1 FAS2  FAS3 FAS-4 | FASS
(PFA Lining)
10XJME
Aluminum FAS-3 FAS-4  FAS-5FAS-6
JIS 10K 10XJSME FAS-2
Butterfly Valve Wafer — ——
10DJ ‘
Ductile Iron —— . E—
JIS 16K
S PN16 16DJ, PN16DJ

Note : UTDZ/SCTDZ 37| 20* (%8)<

*FAS-5 for TDZ.

22

kel

FAS-2 it



MF =

Part No. | Part Part
1 Body 67A Bearing
2A End cover 67B Bearing
2B* Spring cover 67C Piston bearing
85 3 Shaft 85* Plug
13A Bolt 91 Shaft cap
13B Bolt 97 Indicator
16 Name plate 98 Indicator plate
35 Bolt 103 Gear rack
39 Bolt 108* Retainer guide
45A O-ring 124* Spring
45B O-ring 132A Stopper bolt
45C O-ring 132B* | Stopper bolt
45D O-ring 133 Nut
45F O-ring 142 Pinion gear
47A Thrust washer 146 Back-up ring
478 Thrust bearing 150* Spring retainer
45C 48 Stopper 155A Seal washer
oA 2 50* Breathing plug 1558 Seal washer
155A N\35 Sk Mizukiller 177 Piston
133 * Spring-Return type. 191 ::::uAbsb_%r gr!'il)%

7| E}F otH|AL2]

Proximity Switch

=W \echanical Limit Switch

N
Spring Cartridge

Air-filter Regulator

23




Valve 2} Actuator?| & XIAIM

1. 822w 2o Mx|517| M, 8F MHo{2, B2 S 5. 0k B I Z0| QUCHH MESH RS ETE ALR
71Ef Ol 2 & 0] Lol x| A= RS AN A sl of ghict.
A ] _
gk 6. SO2L} Cl2otzre RAIN 7| S ALS5Hs Al
2. ZOF R=A| 29l HE|Z2jo| W E SCf 1 olM= EAM JtATE 73 Z00 M= oF
EE fA o2 M|V} s EUCH RHE 2= Lot
Ho i =o0| 78t 2L} H =0 0|E - e
T2 S0l Jheertt. I RO g wager o @) 2wz 130%0 Sote B
of §=&l Air Filtert =7 7| (Lubricator)2| &%, ot = 7| (Air Compresson @F 27| 2~ (Air
Hj 2ol X|LHZl BHES A X| HE = o4 FofofE{ o Roservoir) S Al2 st ch
— = - O H .
S S maistod M 9| x|l Ax|5f0F ghict. )
] ) 8. £7| XM= Zob = X HMX|7|ZH0| 30|} X|
3. 80let 25 flsto WHE FHof HMHEst 32 L 742 Rt= 2= WAZ|ES =0t S 45
AZstich. (of: ¢l 2 =0 S eT e ESAC SIS T E T
D e ol #1 300mm, o2 500mm, S & RlE U ol2iZ o= % =0 0[El & Bt XS
S22 F& 300mm) 57| ® 502 AtSsobgt o,
4. HZ0|0|E] ALEA| 3|8 7|22 A5} 205 FE
AL 60 AtO| QLI D 8=y} ST B2
Z35ts SOl AISE HS MES HExA
= 5to{o} g,
e} -
oAl
/N\CAUTION
OFAIIZ AX00|EI S A E 1) BIEA| E o RIAM S ¢ nf2fop e,
oslTt FiEt R0 MY S 12510 FAIZ| = 008 S n2AAl2

o ol ol E{ & ZHAI51Y| SIshM WO XM B AlekS el sto| 2l5tod

L EFEJ 9#‘5*%1% EZSHAIL
® Double—action TypeX} Spring—Return Type2l Zt Cylinder Body= M2 L

Ct. Double—

action Type2 A= & FIEZ|X|E B A 3SH0{ Spiring—return TypelL 2 ._43._%

® Double—action Type& Spring—return Type2 2 Matst A< —.7“ MH|A =ZHof| 2|5 ”—’F—01|0|E1 37|17t
St = JqEuch MAEst 37|15 @6 KITZ Corporation2 2 22|50 FAAIL

® Built-in Spring Return Type2| & &t& 22 2 4K (0.4 to 0.7 MPa)&! L C}.

0 Atz 24240] 3K(0.3~0.7MPa)2t 5K(0 5~ O 7MPa)°| AT FIEZ|XE MEHE = yELCH 3K & 5KF

& o] WFoo|E 37|= KITZ Corporation2 2 —‘?’-Olon“AI
oLl F FEo &42 Jtall 2EtEsS Lo ThE o X|LtAl ’“%0‘54‘3 OH Z=of|O|E{ofl Z}stX| O AL,
iz A 2= ASE Instrument 37| E= A4 JIAE AFS S T}
MO0l E FAl2 Jtsdo|/Ue= 2%'01[*1 AFEP_FEP'F_:I L2 2 2f B2 242 2 = &£ A&HC
1. @ = position FX|
KITZ2| Pneumatic HF0l|l0|H= +Z0| gigUHCt HFolo|H= X|HHel 7| SZeU0l= 2E
Poisitons &A|Zt 'rrﬂ% T EUECH XEFH ez Y| 33 oK 211 WE Positiong &A
Ofst= A% KITZ Corporann L= X e[ ez 225t FAAIR
2. Spring-return type 2 F0i[0|E & ZHF 37|
Spring—Retrun® °”¥01|0|E1—| "34 Torque= Cylinder L 2ol &F S7(7F gle WEE LIEFH L T}
Oofo

0
>
_Qé

()

Spring—Return 24 Al, L& XFE:'JI S &g = UES AI*E*' = MASHMAIL. 2tef Cylinder L 5ol
rF3717t La*i’t'lf'?j, £ Torque?t ZHolX| 11 Spring—Return2| 2-20i| 2|3 W EJ} H2|HL} S5 X &
St
07| T LIAHThread)= BSPT1/40| &=Lt &Ao| ¢6 == 11 o|ste| it FEE ALS T C}.
o 2 XZo| tfjat E22 ZZA|ZHE BHEA|F|2{H KITZ Corpora’uonoi F25t0] FAAL.
O F Series WFO|0|E = KITZ & 2AAMAIZ|E AI23H=ZAH 0| E&5LCH.

24



/\CAUTION

O MH|A =4 E 12{510{ st Solenoid WE S MEHSIAAIRL
ot 2 2| X7} Open Slipg =% AZ| W20 PositionerZ7t U= ZSUE S A}
3|,A|j\|

ot
et
oy
o
=
sl
10
i
mu
A
bl

® Spring A o[ A0 20| E0{7}X Eg_'.:_ﬂ St7| I8t 2E("Mizukiller")2 Spring—Returnd® & Zof|0|E 2
Breathing Portoll Z&HglL ct J2[ 10 Mizukiller= 2E[HZ2 &3t Ats 252 Aldsty| Mol AE
HE MAHsHIAIL
(20094 12& o|Hof &351= JH|%9—|
S M x| HCh AF= & sl
S’A'Q'fl Ct.)

® FAS Type Spring—Return X F0|0|EH & 2L} ot 2tHAM ALE S E - MizukillerE ZH&ksl oF 2hu .

Mizukiller& M X|5}X| o™ A=x& FIEZ|X|H 20| S7} LAIS0| e e = U &L T},

A H

1<, Mizukiller CH2! Spring—returndl 2 =0j|0|E{ 2] Breathmg Portoll
7] M {2 MAH s chZ4o| Hollom™ HFofo|E HEIF =3 E

/\WARNING

® Spring—return Type2| &9 AZ & FIEZ|X|7} Yotz AZ ol ofsf ofF L5t
AI-Q Ijl-;(|3|_7| 2|3tod A= 7|.Ee_|7(| TAAZ E'_EAIA'O AHEI;'.EE_'X'

g —d —— O

® End Cover2l Spring Covergs 7| ALt 7ItAEf 2 O 0| 0|E{ & 25HSHA| OFAl A

/\DISCLAIMER

oKITZ= ZAZE AKX b= AtARal, At == 2HA, M3Ate| ef, nojxfel el HlFatH el =t
o L& L= ALEO EHPJ 01EH°F ol x| x| grauch

= =3 1

oKITZ= 7tE 2O
Eof| thal o Bt

=Y dUMof| HAIE SAAtent FFof == A HelE ol 2ol MR &AL
= XX &Lt

LAl

® KITZE= KITZoll $IEHSHA e M Eo| izt ch2 J|7|ol M MBEs 31502 w3t 2 Akl dfsl A= of
3k Mol T XX eba ot

25



Printed in Japan

A\ CAUTION

Pressure-temperature ratings and other performance date published in this catalog have
been developed from our design calculation, in-house testing, field reports provided by our
customers and/or published official standards or specifications. They are good only to cover
typical applications as a general guideline to users of KITZ products introduced in this catalog.

For any specific application, users are kindly requested to contact KITZ Corporation for
technical advice, or to carry out their own study and evaluation for proving suitability of
these products to such an application. Failure to follow this request could result in property
damage and/or personal injury, for which we shall not be liable.

While this catalog has been compiled with the utmost care, we assume no responsibility for
errors, impropriety or inadequacy. Any information provided in this catalog is subject to
from-time-to-time change without notice for error rectification, product discontinuation,
design modification, new product introduction or any other cause that KITZ Corporation
considers necessary. This edition cancels all previous issues.

Read instruction manual carefully before use.

/A NOTICE

If any products designated as strategic material in the Foreign Exchange and Foreign Trade
Law, Cabinet Order Concerning Control of Export Trade, Cabinet order Concerning Control
of Foreign Exchange and other related laws and ordinances (“Foreign Exchange Laws”) are
exported to any foreign country or countries, an export license issued by the Japanese
Government will be required under the Foreign Exchange Laws.

Further, there may be cases where an export license issued by the government of the United
States or other country will be required under the applicable export-related laws and
ordinances in such relevant countries.

The contract shall become effective subject to that a relevant export license is obtained from
the Japanese Government.

A chrysanthemum-handle is a symbol of KITZ,
the brand of valve reliability

ISO 9001 certified since 1989

IKITZ

IKiT2 CORFPORATION

1-10-1 Nakase, Mihama-ku, Chiba 261-8577, Japan
International Sales Dept.
Phone : 81-43-299-1730
Fax : 81-43-299-0121

— Distributed by —

FSC

www/fsc.org

MIX

Paper from
responsible sources

FSC® C022337

E-350=13

1906(DSG



	301415726_00h001_pj190619-0109200001_Adv
	301415726_00h002_pj190619-0109200002_Adv
	301415726_001_pj190619-0109100001_Adv
	301415726_002_pj190619-0109100002_Adv
	301712795_003_pj190619-0109100003_Adv
	301415726_004_pj190619-0109100004_Adv
	301415726_005_pj190619-0109100005_Adv
	301415726_006_pj190619-0109100006_Adv
	301712795_007_pj190619-0109100007_Adv
	301415726_008_pj190619-0109100008_Adv
	301415726_009_pj190619-0109100009_Adv
	301415726_010_pj190619-0109100010_Adv
	301415726_011_pj190619-0109100011_Adv
	301415726_012_pj190619-0109100012_Adv
	301415726_013_pj190619-0109100013_Adv
	301415726_014_pj190619-0109100014_Adv
	301712795_015_pj190619-0109100015_Adv
	301415726_016_pj190619-0109100016_Adv
	301415726_017_pj190619-0109100017_Adv
	301712795_018_pj190619-0109100018_Adv
	301415726_019_pj190619-0109100019_Adv
	301415726_020_pj190619-0109100020_Adv
	301415726_023_pj190619-0109100023_Adv
	301415726_024_pj190619-0109100024_Adv
	301415726_025_pj190619-0109200003_Adv
	301712795_021_pj190619-0109100021_Adv
	301712795_022_pj190619-0109100022_Adv
	301712795_h004_pj190619-0109200004_Adv



